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أتحقق من فهمي
الأشكال الرباعية

TUVS أو STUV أو VUTS 4 أو SVUT 

5  الضلعان TU¯ و SV¯ متوازيان.  

 6 m ∠ STU = 49o

2 x + 40 + 35 + 120 = 360

 x + 195 = 360   

 x = 360 – 195 = 165   

3 x + 90 + 90 + 110 = 360

 x + 290 = 360   

 x = 360 – 290 = 70   
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2 m ∠ ADC + 45 = 180

 m ∠ ADC = 180 – 45 = 135  

 x + 35 + 130 + 135 = 360  

 x + 300 = 360  

 x = 360 – 300 = 60   

3 m ∠ ABE + 110 = 180

 m ∠ ABE = 180 – 110 = 70  

 x + 90 + 125 + 70 = 360  

 x + 285 = 360  

 x = 360 – 285 = 75   

 b = 360 – (140 + 40 + 40) = 140
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 a = 180 – 140 = 40


